H =
D A K HEE
(Bifi-F)

) ) B4l B R SM44E4H 258

A#E2 (SFAEEMIAKE# LB EREEEXBRAT -
BR4L3ZFR 4 ERT XI5 A EGE
EXEI5PT t+ERTEERE #R AFLFERI BERIERRF AL
% H1E (BEAA) %2 _ Mg (Bik)
= AR EE iLE
= B 45z €% B 45z €% B 45z €% 2,128,000
3} 4/18 FREZHE
2 BB EEIRIE N 4 3,000,000
3 |WYyUAR HALZE #1 1,950,000
4 |BHEERIALT 3 2,800,000
5 |EREEMERILE = 4/15 HREZE
6 |RINEEFEK 2 2,380,000
A [12Fnds - ARSI A WADYS - —le &A1 71 4/13 I RfE=I8
& &

EiE2EEIZ1009 0101248
LI BHEEMEL-EEN

SEHELEDHBRLAAIZZRD

METH5,




A #lER &

(B[
BA4L B B SF4%E48258
A#G2 (SHAEEECYERORE(MSYI)BAEE -
BR4LiZ AT 4 ERT 1R I5 B BGR
EEBM T4 ENREEFREARDS5—1 (4 ERT&RS) AFLFERI EEXIERFRFALL
= H1E (BEAL) %2 _ PRl (B
= AW ESE =
= o3 £%5 o3 £%5 o3 £%5 3, 660, 000
1 —S5= = 4/25 FRfEZIE
2 4/18 ¥RESIE
3 |EWIISEDERMTGSESE| 5| 2817,216
4 > ek PN 4/22 #REZHE
5 |BCESERE 4/22 HBREZE
6 [LERIRYMRIEEE 2 2.867,797

" &
EiE2EEIZ1009 0101248
LI BHEEMEL-EEN

KEHEEOBLAHZERS
& THD




A #lER &

(B[
BA4L B B SF4%E48258
AfG2 (STAEECyERMARE)—REXE -
BRALIB AT 4 R BT % 15 B ERGE
EZIBR 4 EMEREEFRAIA5—1 (tyEETRIE) A#LFERI BEXIERFTEE AL
= E1E (FEAL) %20 i FEME (Fitk)
= AW ESE iLE
= o3 £%5 o3 £%5 o3 £%5 28, 000, 000
1 BB EESAIH—E X 4/15 #REZHE
2 | BsRU=R & I7LF 2SI 4/22 HIRfEZIE
3 | AFIU=2bpihia=¢t 4/15 #RESE
4 (HWFIFLA)—RE 2 25,762,800
5 |=&FA4A—=bY=— 4/20 #REZIE
6 |= = 4/22 ¥#REZIE
7 |WrIELURY—R AL %1 22,218,000
8 2 Y- APYIETL -k 3 4/22 ¥ REZHE ﬁgéa%éﬁﬁmooﬁa)ml:ffﬁ
L4 ZEEEMEL -2
25tk FORLAHZES
EiETHS.




A #lER &

(B[
X B4l B B SH4F4A228
AfG2 (STAEECYERMAOREBE(IMI0/1X))—REBE -
BAALIZ AT 4 ERT 1R I5 B BGR
EEBM 4 EMEREEFRAIA5—1 (tyEETRIE) AFLFERI EEXIERFRFALL
= F1E (LA $2[A] ) FEME (Fitk)
= A EXESE G
= B 432 %8 B 432 %8 B 432 $%E
1 BB EESAIH—E X 4/15 #REZHE
2 | BsRU=R & I7LF 2SI 4/22 FEREZIE
3 |RFOL—2RbpaLE 4/15 #RESE
4 . — 2= 4/22 #REZIHE
5 |=&FA4A—=bY=— 4/20 FBRfEZIE
6 |= = 4/22 FBEZIE
7 . — Ly 4/22 #BREZHE
-~ — -~ AN ] = 3> - ﬁ_#
38 = 4/22 FRIEZIE  |£z4%E21005 010124
Lo ZEEE N L - EEA
Stk FOBLAKICES
B TH .




	⑧入札調書



